-8k

KE% S5 EE MR/WLEFERFEHTRERS
B e 1t AR R =Y /18— B EFHES
H SHM5E1I1R18H
ZFBRIEDEL ZF1IX 3.2km BFIKX 3.2km
[[E0A F—b4 = BLEK A F—2A [0 s8R RFH F—2A
= UXx BhA OAT | AVTHA= 20 av~ AUTEA=
Fa s (8] 1 11.23  |&H WFE peiany; e 1 9.37 A &K A T (ke
1 |45:52 Iy~ v3l | BAFrFay ~I N)L= T4
2 11.32 |5 Bk e L 2 9.49  |di &E frmf
AT T2y TN~ T |[=2F V75 )7 |ravavsay
) HErd H16] 3 11.37 |EVE ¥ e 3 10.06  |Fxn0 fEFH FAyEH
46:47
AT HA=
A 4] ZF2X 2km BF2X 3km
3 |47:17 JET LR ETL F—2A NI A% ®T4 F—2
TNT TXY = Tx FA vayd =2 Ux
2 AXA 1 7.15 INE Pl 1 9.56 +E PE i
Kpk A [34] I LT YT IS TF 2w 2T VT HATTT
4 47:43 2 7.29  |EK YR YEEE 2 10.08 | A7 )l
UK a,/)v TayavFay VAT TV TavavFay
XA 3 7.29 ol M 3 10.09  |JEAd BE LR
FoF[50]
5 [48:18
EVE G ZF3X 2km BF3IKX 3km
pEp[27] LT SLER EEL F—24 [l SUER BEEL F—2
6 [48:20 aJiR Ly |=3USk AFH TA4% [=2TUF
1 7.34 IR FEZR |VEG 1 9.49 fEE i Ve R
Ye¥x 37 |[FAEA =33y AV |F IV
BEFFUEDED 2 7.44 (LR v Kk p 2 9.51 FER JEK  |EAEd
NEHT F—24 IrT LAh HAHT AV rrorayliavayFay
EES 3 7.49  |#%iE BE )l 3 10.256 | AJT fERAR |k
Vel 12]
1 |1:00:55
TINT ZF 4 X 2km BF4L4X 3km
FEF51] JELT ik EFY F—A [[Eia ko EFY F—A
2 11:03:06 XvH= ) [FA Fdn AYvny (= Uk
1 7.33 WA KA fofgt 1 10.05  [fRF BHES  |vEGT
AT Fh) T avaAyFary HENE TX |
BAFH11] 2 7.49 i gk A 2 10.13  [HHA BArom g7 [
3 ]1:03:12 YV H v (AU TEA= X AN aURT|[TNT
- 3 7.50 (W B p=aany; 3 10.27 B[ $hA SR
R
B | rh[26]
4 11:03:53
ZF5HX 3km EF5HKX 3km
B ELT SLEK e F—2A [ o e F—2
i B H[30] NIT A A A H=JF vFH [T~
5 |1:04:48 1 11.21  PIFE Fq pND A 1 10.20 |0 BBIA) SR
~VEN B3I [=2UF moay LR [ AT
DE D% 2 11.24  [IaAs HEjT ;s Asal 2 10.28 | AL 3B AR Fn
BEf49] IFA FFv el AT Y~/ o3y AT Fary
6 |[1:05:07 3 11.33  [adf 3 R 3 10.31 ||l Rz YR
BF6X 3km
JIES7 LR ETA F—A
wIUH agE AT
1 10.06  |#AF 67 Hiks
voA Zr~ ENAVES
2 10.07 [V3t mmE P
=¥ Hrruy|ayany
3 10.08 | @& WHKER |




